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For

QUEST|ON 1 Exami ne

use

(@) Ntokozo is a trader.

0] State any three features of a sole trader.
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(i) Explain two advantages and two disadvantages of a sole trader.
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(b) @

(ii)

(iif)
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Name the type of retailer that uses the post office to sell goods.
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Distinguish between a supermarket and a hypermarket?
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QUESTION 2

A majority of people in general desire to own businesses.

(@) 0] State four ways of entering into business.
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(i) Explain any three advantages of budgeting.
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(b) A business plan has several components.

0] Describe a business plan.

é

D~
D~
D~

é

D~
D~
D~

é

([N
([N
([N

(i) Explain why a business plan is important to a

é

([N
([N
([N

é

D~
D~
D~

eeee

(i)  Explain any three components of a business

o> o> o> D> D D D
o> o> o> D> D D D
o> o> o> D> D D D
o> o> o> D> D D D

D
D
D
D

©ECOS 2012

o D

([N

o O

D~

o> o> o> D> D D D

([N

[N

D

é
é

é

o> o> o> D> D D D

D

o D

([N

([N

D~

o> o> o> D> D D D

([N

D~ D~

D

D~ ([N

[N

o> o> o> D> D D D

D

D~ D~

D

D~ ([N

[N

o> o> o> D> D D D

D

o O
o O
(0N (0N
o O
o O
(0N (0N
o O
o O
(0N (0N
(0N (0N

-
-
(0]

-
-
-
-
-
-
-

D D
D D
(0N ()
D D
D D
(0N ()
D D
D D
(0N ()
(0N ()

D~
D~
D~
D~
D~
D~
D~
D~
D~
D~

o> o> o> D> D D D
o> o> o> D> D D D
o> o> o> D> D D D
o> o> o> D> D D D
o> o> o> D> D D D
- o> o> D> D D D
- o> o> D> D D D
- o> o> D> D D D
- o> o> D> D D D
- o> o> D> D D D

D
D
D
D
N
N
N
N
N
N

521/01/0CT/NOV/2012

D~ D~

D

D~ ([N

[N

- o> o> D> D D D

D

(0N (0N
(0N (0N
o O
(0N (0N
(0N (0N
o O
(0N (0N
(0N (0N
o O

-
-
-
-
-
-
-
-

é
business?

(0N ()
(0N ()
D D
(0N ()
(0N ()
D D
(0N ()
(0N ()
D D

D~
D~
D~
D~
D~
D~
D~
D~
D~

plan.

- o> o> D> D D D
- o> o> D> D D D
o> o> o> D> Dy D D
o> o> o> D> Dy D D
o> o> o> D> Dy D D
o> o> o> D> Dy D D
o> o> o> D> Dy D D
o> o> o> D> Dy D D
o> o> o> D> Dy D D

N
(]
N
N
N
N
N
(]
(]

[Total 20 Marks ]

[N

[N

D

[N

M (0N D D ([N ([N

D

[N

[N

[2]

([N

[N

(0N (0N (O (N ([N ([N

D~

[6]

For
Examine
use



QUESTION 3

(@) Define the following terms:
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(b)
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Trade involves producers, wholesalers, retailers and consumers.

0] Explain what is meant by trade.
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(i) State the two types of secondary production.
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(iv)  Explain any two differences between small scale retailers and large scal
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D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
D

Difference 1é é é .

D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
D

eeéeecée

o g o o
o - D~
M -+ M
M -+ M
M (] M
M = M
M @ M
[0} > (0N
™ O o
M (¢} M
D M- D
[0} 3% (0N
D M- D
(0N (1} (0N
(0N (1} (0N
D [} D
D M- D
(O (0N (0N
(O (0N (0N
(O (0N (0N
(O (0N (0N
(O (0N (0N
(O (0N (0N
(O (0N (0N
(O (0N (0N
(O (0N (0N

D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
D
N
N
N
N
N
N
N
N

D~ D~

D

é

D

D

('D\ (.D\ ('D\ (D\ (D‘

D

é

D~ D~

D

é

D

D

('D\ (.D\ ('D\ (D\ (D‘

D

é

o D

([N

é

D

D

('D\ (.D\ ('D\ (D\ (D‘

([N

[N

[N

é .

é

D

D

('D\ ('D\ (D\ (‘D\

[N

[ Total 20 ]

521/01/0CT/NOV/2012

- [2]

[N

[N

[N

gk

(0]

D~ ([ON D~ ([N

[N

[4]

For
Exami ne
use

D

D



QUESTION 4 For
. . . ; R Exami ne
(@) 0] Explain whatis meantby 6| egal. t ender 0 use
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(i) State any four characteristics of money.
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(i)  Explain any three functions of money.
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State the three parties to a cheque.
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State one type of crossing a cheque?
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Explain the following terms:
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10

The economy of Swaziland largely depends on the success of small and medium

QUESTION 5

businesses.
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Explain any three benefits of business growth.
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List any four ways of measuring the size of a business.
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Differentiate between internal and external growth?
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(b) Explain three features of a command economy.
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